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Find the area and perimeter of each of the polygons below. EXACT VALUE ONLY.
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9. One diagonal of a rhombus is three times as long as the other diagonal. The area of
the rhombus is 108 square inches. Find the len of each dSagonal
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10. Find the height ofa trapezmd w1th bases 6.4 cm and 13 cm, and an area of 78 cm?.
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15. Use the given shape to find the foﬂowmg, given the side of 2+ cm.
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 17. Find the area of a regular decagon with side 8 cm.
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18. A dodecagon has an area of 2192.4 ft2 and a side length of 14 ft, find the apothem.
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19. Find the area and circumference of
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23. A windscreen wiper is 45 cm long.
In one sweep it turns through an angle
of 115°.
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Calculate the arc distance it covers in one sweep.
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20. The circumference is 187 in exact
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22. Find the area of the segment.
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25. In the figure below, what is the area of the portion outside the circles but inside
the square? Express your answer in terms of p.
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26. An automobile has 20-inch diameter wheels. If the wheels revolved three times
after the brakes were applied, the stopping distance was approximately .

C=wd=20mx 3 =|188.5 in |

27. To promote recycling, the ground of the neighborhood playground shown is being
covered by shredded tires. The sandbox will not be covered.

Part A: What is the area, in square feet, of the
shredded tire portion of the playground?
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Part B: If shreé&gt_lres cost $2.99 per square foot, at the required depth, how much
will it cost to cover the playground?
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